ma —mb + me & VG-l A2
® m(a+b+c) @ m(a-b-c) ® m(a-b+c)

@ ma(1-b+c) ® m(a+b-c)



Sf&Al o]-§5ke] 132 - 122 = 13+ 12 2 A{tst3int. of of,

® a®+ 2ab+ b* = (a + b)?
@ a*-2ab+b* = (a-b)?
® a®>-b*=(a+b)(a-b)
@ xX*+(a+b)x+ab= (x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)



1502 — 1492 = 150 + 149 & A Y3s I
= r o0 Qo ol =
J__’—E—?j() = = OO]—I_ E] E—Q—J_— ?_]—/,\—»E—oﬁ 'f)_/;!"%

® a* +2ab+ b* = (a+ b)?
@ a*-2ab+ b* = (a-b)?
® a®-b? = (a+b)(a-b)
@ x*+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)



4.

a-b=1,a>-b>=4<L Y, a+b 9 F27

@1 @ 2 ® 3 @ 4



5. (x+4)?-3(x+4) E d5-EalotH?

D (x+4)(x-1) @ (x-4)(x+1) ® (x=7)(x+4)
@ (x+4)(x+1) ® (x=-7)(x+1)



X

—

x+2)
o]

L2
o5

>
Mo =

o

+4)(x+6) +16 = g-Eolish= ol ()<l
A7

—

=

x(x+2)(x+4)(x+6) + 16
=x(®) x (x+2)(@) + 16

= (x> +6x)(®) + 16

(@) = A = 5h9

A2 +8A 416 = (A +4)? = (®)?

® x+5 @ x+3

@ x2+ 6x ® x2+6x+1

® x®+4x+38

z



7. U dgEs) I ol 8 TS BF A2H? (Fa>0,b>0)

W4yl dy -1 =2 - (D2 -4y +1)=x>-(2y-1)?2 =
(x+2y-1)(x-2y+1)

@® a* +2ab + b* = (a+ b)?
@ a*-2ab+ b* = (a-b)?
® a?-b?>=(a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)



® x*+1



O|ZH4 x* + Ax + B

9.

@ (x+1)(x+6) ® (x-2)(x-6)

D (x+2)(x+6)
@ (x-1)(x-6)

® (x+3)(x+4)






® x+4

@ x-1 @ x-7

@ x-5

DO x+8



12, (x+y)(x+y+6)+9 & A= ©]-835to] ArEsfisha?

@O (x+y+3)? @ (x+y-3)?
® (x-y-3)2 @ (x+y+3)(x+y-13)

® (x+y+3)(x-y-3)



13. oL sx+y B A 2 ABse] A5Ralets Bgolth. W

A a, b ol ot a-b 2] 2?7 (Fa>b)

(5x+y)(bx+y—-3)—18
=A(A-3)-18
=A?2-3A-18=(5x+y+a)(bx+y+b)

@ 4 @ 6 ®7 @ 8



14. (20417 - (x-2)° = Bx+a)(x+b) & W, a+3b ©] T2 75147

@® 4.5 @ 6 ® 7 @ 8 ® 9



15. (a+b+2)? - (-a+b-2)> & A5EHH?

@® 2(a+b+2) @ 4(a-b-2) @ 4da(b+1)

@ 4a(b+2) ® 4b(a+2)



16. Al (x-1)2—9)? & A5Haljsta?

@ (x+3y-1)(x=-3y+1) @ (x+3y+1)(x-3y-1)
® (x+3y-1)(x-3y-1) @ (x+3y-1)(x+3y-1)

® (x+3y+1)(x-3y-1)



17, x®y—y-2+2x o] 157} obd 227

@ x-1 @ x+1 @ 2 -1

@ y-2 ® y+2



@ x*-1 @ x*-1

D x-1

® x8-1

@ x5-1



19. x* —5x2 +49] Q154=7} opd #AL9

D x-1 @ x+2 ® x+1 @ x-2 B x—4



fijo

20. 82 Jxs?- 2 X222 ARKHE oI, o] o], o} 8 AL

=
T

NEH? (BH 270)

® ma + mb =m(a+b)

@ a?+ 2ab + b* = (a + b)?
® a*-2ab+ b* = (a-b)?
@ a®-b*=(a+b)(a-b)

® x>+ (a+b)x+ab=(x+a)(x+b)



21.

xyZborea e m L7 o] gre9
Xy
_ 1 _ 1
oY T VB
D V2 @ 3 3 242 @ 32 ® 42




22,

1 1
TR BB

X

D 43 @ -843
@ -5+3 ® 53

oo, 42—y o] ghe FohE?

® 3V3



23. x=1V3-6, y=V3+2 <& ], x2 + 2xy - 3y% ] 727

O -12 @ -24 ® -32
@ -24+3 ® =323



24. (x+y+4)(x—y+4)-16x E HEA AFEolT A2

@ (x-y+4) @ (x+y-4)?
@ (x-y-2)(x+y+8) @ (x+y-4)(x-y-4)

® (—x—y+4)(x—y+4)



.

oo

T &4 g2 A2

X -x?4+2x-2=(x-1)(x* +2)
@ xy-x-y+l=(x-1)F-1)
® xy-2x+y-2=(x+1)(y-2)
@ Px+1) -4+ 1) =(x+1)(x+2)(x-2)

® ab+1)-(b+1)=(1~-a)(1+b)



